77NN @

Http://www.china-easun.com

EASUN

m BESHeZ

ERTBZ 3l B ¥ K L

n FalEFs

S ARARESEMRMARMAIE. TR, W&,

O SIS, S REH 1.
SR IKLEN, B TR,

SEAMTHEES, WEEMIL, RETE. AH.

e THEAFEEIAL, TSINBLHIE,

®NERBI, TREHEMETX,

ERTB 10 - K - 2 - A - 2 ERTB 10 - K - 2 A
‘ ‘ ‘ ‘ ‘ ‘ ‘ Oil pressure cushion

B RS AE miEFR  mEFRSE  AEERE E0BNE Model - T¥Pe  Rocd switoh A:With oil

10 (%8 ) (BEE ) Rotary K:With reed switch g o4 itoh number pressure
table Wi
20 K ueE T cylinder BIank.W|.thout 1:0ne reed switch cushion
28 - 1 AR R AEZME 14N BN 50 reedswitch 2:two reed switch  Blank:Adjusting
IR PV Py 70 screw
17000 SEEMEFX 2: 2B sagrmy 220 k] AN
= kY)Y
" #s m

n HARSH

AFITHMAMNA0, HHMEFR2A, THEEHR[SIE, HEBMNITHWRIEA: ERTB-10-K-2

2

-

Oil pressure cushion number
1:one oil pressure cushion
2:two oil pressure cushion

7 B/ltem Mg / Type ERTB-10-[J ERTB-20-[ ERTB-30-[] ERTB-50-[] ERTB-70-] ERTB-100-[1J
B ER U/ Action Wi 2 4t o £ 7 WAE A BY/Double piston gear and rack type and double action
T4 B/Fluid =5 (240 Aiml _EIEFT#E ) /Air (At least 40lim filtred)
#ATorque N-m 1.5 2.2 3.2 5.5 7.5 9.8
SELEI2/Inner Diameter $15 $18 $20 $25 $28 $32
23 fE/Swing angle 90°  180°
% f BE/Adjust angle 0° ~190°
#E& N1E/Port Thread M5X0.8 G1/8
{& A £ 1/0Operating Pressure MPa 0.15~0.7
1 IR E / Operating Temp 0~50
A3
BT X n BREBY
#£ E/Wiring Diagram
BT |\ FXiBHE EAEX |EA BAF | &AE | BRT | B RAFX | ERRE | BPER
Type |Switch | Switch BE XHF | AFE | Indicator| REE YisRE | SERE Protection
NS " Logic Pattern Load Max Max Light Reation Max Operating | Grade
58 Brom + Votaged | current | Capacity sensitivity | Switching | Temp
~ Frequency
e |
RSP Bupply B — .
e ES-072R| #FFEL | Has crunode 5 ~240V/ 100mA | 10W LLED | 70885 200HZ -10 Ip67
node, \DC/AG | (k) | (BK) |Red | g 0
s Normal | magnetic spring Max) | (Max) LED auss 7
BdBlue - Open pipe type




[E %% 75 5 % [E % f3 /Rotary direction and angle

¥ Bt HEEE/Rotary withershins

@qj‘qjé
* b

IIFE Bt $1 e #/Rotary deasil

AOBSTIEEE R $THER,
BO#STIEA AT §t e s
A input rotary withershins ,
B input rotary deasil .

R A EMH L AR,

RAHBEEW EEMT, EAFERAH190°
Location hole as basis , max.

rotary angle range as above picture , max.
Rotary angle is 190° .

[3 %% f5 BE A B2 (L90° % £ 1 fil)/Rotary angle adjust(90° as example)

#9812 4TB/Regulate the adjust screw B

Z A4/ Location hole

JHEE T 2£TA/Regulate the adjust screw A

eﬁD‘QJQ

| Qfmmgﬁ |
.

(3T 7% ]

AL Location hole

[5 B i 2 i 3542 $TA. B/Regulate adjusting screw A, B same time

% A4 9L Location hole

&
fE
« |

@qj‘QJQ

A



S ERERT

ERTB-10-50 oA
%
9
)
D
OKORKD 1
L] = -
oKE 2 ~
| | =
S | ©e
e
_ jf AN G . 5 1§ s
L PG - i
=| [ il
L 1kh| @ H
I raly = RACA
M 9l -
N E
(=
Zz
& T i
0, Q #
% (>
%, >
=
0P8
a8
g\ HS
PE\ES A |aa| B |BA|BB| C |D|E|EA F |G |GA|GB H| | J oA KA | KB | KC
10 46(h9) | 45 | 45(h9) | 4 | 8 | 20(h9) | 6 | 92 | 19 | 95 | 47 | 13 | 34 | 5 | 15(h9) | 35 | 28.2 | M8X1.25 | 12 | 11
20 61(h9) | 6.6 | 60(h9) | 65 | 9.7 | 28h9) | 8 | 117 | 19 | 12 | 54 | 17 | 37 | 9 | 17(h9) | 50.8 | 28.6 | M1OX15 | 15 | 14
30 | 67(h9) | 65 | 65(h9) | 45 | 10 | 32(h9) | 8 | 127 | 19 | 12 | 57 | 17 | 40 | 9 | 22(h9) | 52 | 33 | MiOXi5 | 15 | 14
50 | 77(h9) | 75 | 75(h9) | 5 | 12 | 35(h9) | 10 | 152 | 19 | 155 | 66 | 20 | 46 | 10 | 26(h9) | 62 | 37.5 | Mi2X1.75 | 18 | 17
PE\BS ko ke | L |M| mA | N|NA | NB|BC| O [oajOB| P | PA|PB| Q |OA|QB|ac| R
10 |65 |68 |18 |44 | M5X08 |50 | 9 | 155 |13 | 15 | 3| 35| M5X08 |8 |32 | M5X08 |8 | 60 | 27 | Mex1
20 |85 |86 | 275 |59 | M5X0.8 | 65| 10 | 16 | 12| 205 | 4|5 | Mexi |97 | 43 | Mexi | 10 | 76 | 34 | M10X1
30 |85 |86 |20 |64|GIs | 70| 115 185 | 14| 23 |4 | 45| Mexi_ | 10 | 48 | Mex1 | 10 | 84 | 37 | M10X1
50 | 105|105 |38 |74 | GI/8 | 80 | 145 | 22 | 15| 265 | 5 | 55 | M8X1.25 | 12 | 55 | M8X1.25 | 10 | 100 | 50 | M14X15




S ERERT

ERTB-70-100 oA
N 9B
) 8C
ﬁi‘k
f \ OKCKD ] —~ ‘Dl
OKE - =
| [ =
O & | @D
N LN . -
_ fan) ) -
| D T+ |
anY Fan i
=l 73 ———
“\J A4
L 1k e o, = ™
M 9l
N £
= 2.
%, c
& P
Pany , =
¥ D= J ‘ %
. > my—
/L VRN 7Y I I\ ) N
o) © Bl L
D Iy o JU \
<
4PB 4
%,
0
gmgﬁe ij)‘:'?e A |AA| B |BA |BB c D|E |[EA| F | G |GA|GB| H | 1| J | JA KA KB |KC
70 |90(h9) |9 |88(h9) |5 |125| 46(h9) | 10 |170 |46 | 17 | 75 |22 |63 | 16 |22(h9) |70 | 46.7 |Mi2X1.75 |18 |17
100 |100(h9) | 12 | 98(h9) | 6 | 14.5| 56(h9) | 12 | 189 |46 | 14 | 86 |27 |59 | 19 |24(h9) |82 |50.3 |M12X1.75 |18 |17
f{,mgge ﬁfj"e KD | KE /'L /M| MA|N|NN|NA |NB [NC| O |OA|lOB P PA |PB| Q QAlQB @Cc| R
70 10.5 |10.5 |43 |78 |G1/8 |84 |92 145 |26.5 |24 | 325 5 |35 | M8X1.25 | 12,5 |67 | M8X1.25 10 | 110 |57 | M20X1.5
100|105 |105 |50 |89 | G1/8 |95 [102 |16 |29.5 |27 |375 | 6 |45 |M10X15 |145 |77 |M8X1.25 |10 | 130 |66 | M20X1.5




